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= 9,691 0 9,691
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o4lHEE 20,076, 75021 10.795% 2,168 2,158 10
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HEXDIAE 3,000 1,000 2,000
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307 212+01& 3,000 1,000 2,000
Jl 1,500 500 1,000
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Al 81 0 81
202 (4t 7,731 5,000 2,731
| 3,865 2,500 1,365
& 1,933 1,250 683
Al 1,933 1,250 683
01 =WHO4 bl 7,731 5,000 2,731
(OFFS{G1] 7,731,000 7,731 5,000 2,731
| 3,865 2,500 1,365
= 1,933 1,250 683
Al 1,933 1,250 683
M H=RE=S 4,128 8,231 24,103
| 2,064 4,115 22,051
T 1,032 2,058 A1,026
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01 H3RE= 0 4,397 A4,397
(Oleir=1k=: 1= (05! 0 4,397 A4,397
| 0 2,198 22,198
L= 0 1,099 21,09
Al 0 1,100 A1,100
02 =0IALEE= 4,128 3,84 294
O=pALEES 4,128 3,84 294
od&EH 2,867,000 »3F 122 x3.545% 3,659 3,415 244
| 1,829 1,707 122
= 915 854 61
Al 915 8%4 61
oZIIRek

2,867,000 +3H 122 3. 545%+12.81% 469 419 50
| 235 210 25
T 117 105 12
Al 117 104 13
307 212t01& 1,200 3,118 21,918
| 600 1,559 A959
= 300 780 A480
Al 300 77 2479
01 =2 P=H| 1,200 3,118 21,918
OA2E (25, & 3) 1,200,000& 1,200 3,118 21,918
| 600 1,559 2959
= 300 780 A480
Al 300 779 2479
HAEME AASA ojgH| K& 1,200 2,400 21,200
| 600 1,200 A600
= 300 600 A300
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308 XXM SO0IA 1,200 2,400 21,200
| 600 1,200 £600
< 300 600 £300
Al 300 600 A300
11 BIIHSOICHE S A RIS ARSI 1,200 2,400 A1,200
OHAW &2 ol2H| XE 9IS A
1,200, 0002 1,200 2,400 A1,200
| 600 1,200 2600
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= 116 8 %
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) 20,000,000 20,000 40,000 £20,000
| 16,000 32,000 216,000
= 800 1,600 800
Al 3,200 6,400 £3,200
OXIHOIAHIE] BAEX 02 0 5,000 25,000
| 0 4,000 £4,000
= 0 200 £200
Al 0 800 £800
OXIHoY E22 2Y
5,00021+1,0002+35 15,000 18,000 £3,000
| 2,000 14,400 £2,400
= 600 720 A120
Al 2,400 2,880 2480
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57,7502+ 122 693 600 %
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< 28 24 4
Al 111 % 15
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) 2,400 8,000 5,600
< 120 400 A280
Al 480 1,600 A1,120
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2l 45,811 26,598 19,213
< 2,291 1,330 961
Al 9,162 5,320 3,842
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O=d0l g=t| 0= 0 200 A200
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== 2 0 2
Al 168 0 168
202 O] 300 300 0
= 0 150 A150
= 150 0 150
< 0 30 0
Al 120 120 0
05 SR W=0dl 300 300 0
O322 wsol 300,000 300 300 0
= 0 150 A150
= 150 0 150
[ 30 0 0
Al 120 120 0
307 QI2+01™ 13,000 13,000 0
= 0 6,500 26,500
= 6,500 0 6,500
< 1,300 1,300 0
Al 5,200 5,200 0
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02 S22l 2,000 0 2,000
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202 O4d| 500 0 500
01 =LHOIH| 500 0 500
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Atd)
J| 24,837 22,585 2,252
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== 0 230 2200
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2 2,718 0 2,718
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M 2RE(RI|HA) 22K 2EERRYS S 4,2% 4,242 53
Oogl2 282 38,159,070 4. 5% 1,718 1,708 10
oA 282 1,527 1,490 37
0AY=LH 38,159, 0702 *3.545% 1,353 1,327 2%
o&IIQY 38,159, 0702 *3. 545%+ 12.81% 174 163 11
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us= 0 0 1,291 1,291
Il 0 645 AB45
== 0 129 A129
Al 0 517 AB17
oM IRIH2EIS B4 18,492 0 18,492
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